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3. A70.0 kg person on waxed skis is moving along a flat snow covered ground at 5.00 m/s until
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Draw a free-body diagram of all the forces acting on the person. (Be careful, is there an applied

coming to a stop.
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B. Calculate the force of friction acting on the person. v ?%/
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C. What is the net horizontal force of the person?
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D. Calculate the acceleration of the skier. (give magnitude and direction)
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E. Calculate the distance the skier covers until coming to a stop.
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4. What is the minimum force needed to start the motion of a 3.00 x 10 ® kg car with rubber wheels
N —_— e sty
that is at rest on dry asphalt?

< 3uP0* Ko
C QL, L T N )§ Z
v Ut ; Fo=Taz ma= (3207 (8l )
“ e o soord 7 Ya= 24,430 0
> \r?'nl:;tn\;’::I:::;:;T;E’g:z@z:;::ig to keep the 3.00 x 10 ? kg car with rubber wheels ({3 o ‘Oz Ko) &V\ :% { MJS U> P 24 ‘V\‘ %O m)
?g W =100 Y((;;)is F/\) ‘;Vg}i Mé"
? 4 A ,:), My = O- &

Unit 4: Newton’s Laws Work/Packet pg. 12

. N
¢ Fa=For 7 v Vol i(O»WUO\”‘M% EWE T
S ‘JM

Unit 4 - Newton's Laws Page 1



